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SECTION A: ICT. (40 marks)
Ansiver'any TWO questions in this section in the spaces provided afier question 8.

Outline ways in which computers are clasified, give the categories n cach case.
(8 'marks)

(b)  Explain the function of cach of the following keyboard keys in a computer sysiem:

@  tabulation; ‘ (2 marks)
() enter; . (2 marks)
i) escape. 3 (2 marks)
@© Dlsnngmshbuwecn a softcopy and a hardcopy outpu, giving an cxample in each case,
(4 marks)
(@) Determine the appropriate data type that can be used in a database for the data shown in
tablel.
‘Table 1
STUDENT'S - | FEE BALANCE
STUDENT No. | " Cive GENDER sty
1135 ‘Samson ™M 450
1150 Margaret F 3100
1170 Peter M 1870
(2 marks)

2 () Explain each of the following category of input devices, giving one example in each
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case:
@  keyboard devices; . (3 marks)
(i)  scanning devices. . (3 marks)
() Susan was tasked by her employer to acquirc software that would be used in the
organisation:
() state four ways in which she can acquire the softwere; (4 marks)
(i) Outline four factors that she would consider when making a choice of the
Software to acquire. (4 marks)
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Figure 1 shows & spreadsheet extract used by a company to computerize monthly pay
for workers. Use it to answer the questions that follow.

®
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NAME
|James
Mary
Bell
509 Helon 48000 36000, 12000
308 Thomas 28000 5600, 22400
457 Albert 48000 9600| 38400/
498 Stecy 56000 11200} 44800
500 [ Peter 18000 3600 14400
444 Stoney 21600| 4320 17280]
TOTAL 373400 101120} 272280
AVERAGE| 41488.89| . 11235.56| 30253.33
Minimum | 18000 3600| . 12000]
Maximom| 60000 36000} 48000)

Figure 1

()  Write a formula that references to cells only to determine the net pay for James,
given that net pay is gross pay less deductions. (2 marks)

(i) State the function used in the cells:
o cs;
am cig
am cis;

™ c.e
(4 marks)

Outline four advantages of using computers to process data. (4 marks)

@) State four operations that can be performed on a table created in word processor
and has not conent. (4 marks)
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(i) Table 2 shows details about a budget prepared using a word processor. Use it to
answer the questions that follow:

Table 2 5
HOUSEHOLD BUDGET
ITEM QUANTITY | COST PER UNIT | TOTAL COST
2 kg flour 3 120 A
400 g bread 4 3
‘Hlalf litre milk packet 4 40
TOTAL EXPENDITURE B

Determine the formula to be placed in the cell labelled:
(@  Atodetermine the totel cost of 2 kg flour; (2 marks)
() B to determine the total expenditure for all the items. (2 marks)

Explain four basic processing activities that may be carried out in data processing.
(8 marks)

SECTION

: COMMUNICATION SKILLS (20 marks)

Answer any ONE question from this section in the spaces provided afier question 8.

4 @

®)

©
@
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State four reasons that make reports important in a business organization. (4 marks)

Outline four circumstances under which an organization may prefer to use oral means
of communication. (4 marks)

Explain two characteristics of a formal meeting. (4 marks)

The management of Jodes Limited has noted that customers” complaias are not
usually well addressed in the organization. As the Communications Assistant, wite 3
‘memorandum to all branch managers requesting them to ensure that customers”
complaints are treated with great scriousness.

(8 marks)
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() State four advantages of tele-conferencing as a method of communication. (4 marks)

(6)  Describe two Toles played by the sender in the process of communication.
(4 marks)

(d)  The position of Business Manager in Wazi Enterprises has fallen vacant. As the
Communications Assistant, draft an advertisement for the position to be placed in the
local dailies. (10 marks)

SECTION C: ENTREPRENEURSHIP (40 marks)
Answer any TWO questions from this section in the spaces provided afier question 8.

6. (@  Explainthe meaning of the following terms as used in Entreprencurship:

@)  opportunities; . Prnarks)
(i)  competitive advantage. (2 marks)

(b)  Distinguish between fixed capital and working capital as used in business finance.
3 (4 marks)

(&) Danicl is a very successful entrepreneur. Outline six personality trits that may be
attributed to his success. (6marks)

(d)  Explain three ways in which an enterprise may demonstrate its responsibility towards
its competitors. (6 marks)

7. @  Explain three cconomic factors that may influence the development of entreprencurship

in an cconomy. (6 marks)

(b)  The organization mission and vision are vitally important to a venture's success. State
four reasons that justify this statement. (4 marks)

(© Explain five benefits that consumers may derive from e-commerce. (10 marks)
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